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QL Assume that a 2000-kW turbine-generator of 0.B5 power factor operates at the rated load. | Marks 10

An additional load of 300 kW at 0.8 power factor is added. Whal KVAR of capacitorsis | CLO 03
required to operate the turbine generator but keep it from being overloaded?
Q. A balanced abc sequence, one line voltage of a balanced Y-connected source is Vag = Marks 10
1802 — 20° V. IT the source is connected 1o a A-connected load of 20240° 2, find the cLom
phase and line currents,
Q3. Consider a load with value of, Vo, = 110£B5°V | I, = 0.4215° A. Calculate the Marks 10
following: CLOO!

u) The complex and apparent powers

b) The real and reactive powers, and

c) The power factor and the load impedance.

Q4. Apply Laplace transform and calculate the output voltage vo(r) in the circuit of figure Marks 10
below: CLOO1
1Q IH
VWA N
< +
wuna (}) osF== 203 1F =0
Fipure

Qs. For the circuil given in figure below, the speaker works as load while the amplifier and | Marks 10

the capacitor act as the source. To block de current from an amplifier, a coupling CLOO03
capacitor of 80 nF is used ( see figures below). Calculate the following:

a) At what frequency is maximum power transfer to the speaker?
b) II'Vs =35 Vi, how much power is delivered to the speaker at that
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